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1.  In each of the following situations state the most appropriate data processing mode. 
a). Hotel reservations                                                                                                            
(1mk) 
……………………………………………………………………………………………………

b). Pay roll preparations                                                                                                       
 (1mk) 
……………………………………………………………………………………………………

        2.  a) Explain two uses of an uninterruptible power supply unit.


         
 (2mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………


 b) Explain the meaning of BACKUP.





         
 (1mk)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

3. State two consequences of a poorly implemented system change over strategy                 
 (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

4. a) What is a section break as used in word processing?                                                         
(1mk) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

    b) State two section breaks that can be used in a word processor                                         
(2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

5.  a)  Explain portability as used in software selection.



                     
(1mk)
……………………………………………………………………………………………………

……………………………………………………………………………………………………

b) List two ways of acquiring software in an organization. 

             
         
(2mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

     b) In relation to programming, what is meant by: 
i). Language syntax                                                                                                               
(1mk) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

ii). Semantic










(1mk) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

6. Distinguish between Job scheduling and job sequencing                                                      
(2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

7.  a) Subtract 1102 from 110102






                     
 (1mk)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

b)State what the following key combination will do when pressed in Microsoft word 2003 
i). CtrI + END                                                                                                                        (1mk)
……………………………………………………………………………………………………

 ii). Ctrl + DEL                                                                                                                     
(1mk) 
……………………………………………………………………………………………………


8. Explain the difference between central processing unit (CPU) and microprocessor          
 (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

9. Suppose that i and j are integer type variables that have been assigned the values of 3 and -5                             respectively. What is the value of the following Boolean expressions?                                
(2mks) 
a). (i DIV 2) >= (j+ 6) 
……………………………………………………………………………………………………

 b). i-3=j+5
……………………………………………………………………………………………………

10. a) State two characteristics of Rom                                                                                     






(2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

      b) Name four devices other than the typical computer where ROM may be used             
(2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

11.  Explain three uses of DVDs.
  





                     
(3mks)

 …………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

      12. For each of the following printers state the print modes 
            a). Dot matrix                                                                                                                       
(1mk) 
……………………………………………………………………………………………………

            b). Inkjet printer                                                                                                                   
(1mk) 
……………………………………………………………………………………………………

      13. a) What is meant by disk defragmentation?                                                                          
(1mk) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

b)  State the purpose of disk defragmentation                                                                      
(2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

      14. List three ways by which you can provide a common link or relationship between the tables in a 

database software.



                     

                   

(3mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

 15.
a) 
Define the following web related terms:

i)    
Web browser 









(1mk)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

ii)   
Hyperlink 









(1mk)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

SECTION B (60 MKS)

 Answer question 16 and any other three questions from this section

16.
Study the flowchart below and answer the questions that follow.
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a) Write a high-level language program for the above flowchart 



(7mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

b)
List the outputs of the flowchart above




(5 mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………


c)
Modify the flowchart so that it adds up all its outputs and displays the sum obtained









 


(3mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

17.  i (a) What is the hexadecimal equivalent of 7678





(3mks)

…………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………


   (b) Use one’s compliment to solve the following sum: -510



(2mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

 ii.  Compute the values of X in the following expressions 


     (a) 24.3510 = X2









(3mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………


    (b) 6A13H = X10 









(2mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

 
(c) Using two’s complement compute 






(5mks) 


     3610 – 2510 


……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

18. A student at Kula Mawe High school was asked to name four computer consumables. The student responded by naming the following; Toner, ink cartridge, plotter pen, ink ribbon. 
a). Which of the items mentioned is likely not to be actively used in a school situation                (1mk) 
……………………………………………………………………………………………………

b). Explain to the rest of the students what is meant by: 
i). Toner cartridge                                                                                                                           (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

ii). Ink cartridge                                                                                                                              (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

iii). Ink ribbon                                                                                                                                 (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

c). Output devices are classified as either hard copy or softcopy devices. 
i). Name two hard copy output device that can be used in a busy architectural firm                     (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

ii). State two reasons why the user may prefer softcopy to hard copy output device                    (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

d). Use the two’s binary compliment method of subtraction to work out the following               (4mks) 
         4561.558— 10011111.0012 

……………………………………………………………………………………………………

……………………………………………………………………………………………………

19. a). Explain the meaning of the following field properties; 
i). Validation rule                                                                                                                   
(1 mk) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

ii). Validation text 









(1 mk)
……………………………………………………………………………………………………

……………………………………………………………………………………………………

b). Below are two table structures of files in a database 
Table A 





Table B 
Field


 Data type 


Field


 Data type 
Employee name 
text 



Employee no

 Number 
Employee number
Auto number


Data employed
 Data/time 
DOB 


Date/ Time


Department 

Text 
Address 

Text 



Salary 


Currency 

i). which of the two tables is likely to be the parent table 



      
(1mk) 
……………………………………………………………………………………………………

ii). It is advisable to ‘enforce referential integrity’ when creating a relationships. What do you 
understanding by the term referential integrity?. 





        
 (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

iii). The field ‘employee no’ in table B likely to be the foreign key. What is a foreign Key?      (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

iv). Which fields in both tables is most appropriate for creating a relationship? 

   (1mk) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

v). What would make the relationship between the table fail to work?                                         (1mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

c) i). In databases the field properties specify finer details related to the fields and the table entries 
         expected. State THREE field properties. 


                                                  (3mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

ii). State THREE functions of a database                                                                                      (3mks) 

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

20. a). i). Explain three communication services offered through internet                            (3mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

          ii). Describe the following internet terms                                                                              (2mks) 
                  Sign Up 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

                  Download 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

b). The following is a spreadsheet relating to a farmer. 

	
	A
	B
	C

	1
	Crop
	Amount
	Remark

	2
	Maize
	150
	

	3
	Bean
	300
	

	4
	Cashew nuts
	850
	

	5
	Cabbages
	1036
	


i). a function =IF(B2<200 “Not Viable”), IF (B2> 300,” Moderate”), IF (B2>1000, “Viable”))). Give the appropriate result returned in cells C2, C3, C4 and C5 
                      (2mks) 
……………………………………………………………………………………………………

……………………………………………………………………………………………………

ii). Text can easily be selected using a mouse in word processing. How do you select
 a). Multiple paragraph 








(1 mk)
……………………………………………………………………………………………………

……………………………………………………………………………………………………

b). Vertical block of text 








(1 mk)
……………………………………………………………………………………………………

……………………………………………………………………………………………………

c). Distinguish between                      

                                                                          (2mks) 
          
 i). A window and an orphan in word processing 
……………………………………………………………………………………………………

……………………………………………………………………………………………………


ii). Computer Crime and Computer abuse ……………………………………………………………………………………………………

……………………………………………………………………………………………………

d). i). Give one purpose of drop caps on a text paragraph                                                    (1mk) 
……………………………………………………………………………………………………

 
   ii). What is meant by desktop publishing





         (1mk) 
……………………………………………………………………………………………………

 
   iii). List four types of publications that can be designed using DTP software.
          (2mks)

……………………………………………………………………………………………………

……………………………………………………………………………………………………
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